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ASTAN GRAMMAR SCHOOL ]

Combined Mathematics T
Term Test
{March — 2018)
Grade 12
Prepared by: N 1 Pushpakumara _ Time: 02 1/2 hours

Answer all questions

Part 01

1. Prove that 1Sin2A =cotd
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2. fglx)=2x2—x, x € R; find g(x?)
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3. Find the limit
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. 4—+v16+h
lim
k=0 h
4. Achord AB of length 5.5cm subtends an angle of 70° at the centre O of a circle.
. 22 N .
Taking 7w = > calculate the radius of the circle.
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10. Find the resultant of two vectors of magnitudes 8 units and 10 units if the angle
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Evaluate ]in,jlT =

between them is 120°,
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Part 02

GiventhatA + B + € = 7, Prove thattan4 + tanB + tan € =tanAtan B tan ¢

. 3 5 . 56
h that si 12 in—1.2 — 122
Show th tsin 5+Sln 13-—-51]1 5

In the usual notation, using the sine rule for a triangle ABC, show that
(b~c)
2

a(b —c) cscg-cotg = (b —)? tangg—c)sec

The remainder when f(x) = 2x* + ax? + bx — 60is divided by (x — 1) is -94. If
(x — 3) is a factor of f(x); find the value of @ and .

If the remainder when the polynomial function 5x3 + ax? + 6x + 4is divided
(x —2) is 3 times as the remainder when 4x? — 5% + ax + 4is divided by (x — 2),

find the value of .

4x2-3x+5
Express

= in partiaf fractions.

. x._ 1
Solve the equation 49* = Py
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6. Find the horizontal component of a force of 10N inclined at 30%to the vertical.
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8. Rationalize the denominator crf‘ﬁ—+2
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ASIAN GRAMMAR SCHOOL

Combined Mathematics II
Term Test March — 2018
Grade 12

NI it e e e e

Answer all guestions
‘Part A

1. Express the domain and the range of the function f(x) = x% +1

Marks

Time: 02 1/2 hours
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2. Find the length of the arc of a circle of radius 6cm, which subtends an angle gat the centre,
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3. Ifcos(d —B)=cosAcosB +sinAsin B , find the value of cos 15°.
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4. Find the constants ABand CifA(x2 + 2) + (x — D(Bx+ C) = 3(x + 1)
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6. Solve the equation 9% = 3* + 6 (hint; 3% = y)
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8.

10,

L.
Find the limit lim =3
x-1

xe-1

AN ARt R

e

sanan T L LI T TP PP P PR LI ERLRT LR LE R

P T R LTI P T P T T PP PP TP T PRI

P P P VI T PYP PR PYRTPR PP L IERY

[YTTTTTTT YT

L T T T T TS TPV PP P VPO,

P T T T LT T L YT T P T LY PP PR T T PIE T TIPS PE P

T T TP P PP PP PP PP PTT PP

ke

LIy TY) AL L L P P T TP SY TI T

Let f(x) = 2x — 1, find the value of f(a +5)
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Afsec @ = :1? , where@ isin the 3™ quadrant; find sin 8.
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Part B

1. A motor car with initial velocity u ms and having a uniform acceleration travels
distance 2s m in 1 s. then it travels for t, s uniform retardation a distance s m and

comes to rest. Show that s = % [-t—It-z—]
2 (26,1,

a) ABCD is a parallelogram. The mid points of the sides AB and CD are M and N
respectively. Prove that AMCN is a parallelogram.

b) Finda.b
iLoa=2i+jb=i—13j
i. @=7i-3jb=5]

c) If3i+ 2jand 2i + 1 are parallel vectors, find the value of 2.

3.
a) A cakeis 35¢m in diameter. It is to be shared amang 12 people; so it is cut into 12
equal slices. Find the area of each slice of cake. (7 = 27—2)

b} OABIis asegment of a circle of radius 2a subtending an angle of 45°at the centre O. C
and D are mid points of OB and OA respectively. CDis a curved line parallel to the
curved line PQ. Find,

i. The perimeter
fi. Area of the portion bounded by ABCD.
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